CHAPTER’

Qi

Q2

In curved reach of a meandering fiver, both
deposilion of sediments and erosion of bank
occur. Which one of the fallowing stalement is
true inthis regard?

{a) Deposition of sediments occursin theinner
bank while the outer bank is subjected 1o

- erosion.

(b} Depositionof sediments occursin the guter
bank while \he inner bank is subjected lo
erosion,

{c) in the direction of flow, the outer bank
undergoes erosion firsl and the sedimentis
later deposited on the outer bank ownslream.

{d) In the direction ol flow, the inner bank
undergoes erasion first and the sadiments,
are subsequently deposiled on the inner
bank downstream. !

Q3

Match Listel v4ith List-fl and select the corcect
answer using lhe codes given below the lists:

Flow Flow
/ #ﬂ

0] @

@ @

Q.4

List-l List-1)
Altracting groyne 1. (1)
Repeflinggroyne 2. (2)
Deffeclinggroyne 3. (3)
Denchey’s groyne 4, (4}

co®m>

Irrigation Engineering

River Training and Cross

Drainage Works

Codes:

A B CD
(@ 3 1 2 4
o ' 3 4 2
) 1 2 3 4
@ 4 3 2 1

Match List-l with List-ll and selecl the correcl
answer using the codes given betow the lists:

List-l

A. Launchingapron

B. Groyne

C. Guide bunds

D. Marginal bunds
List-Il

1. Earlhen embankment to cenline flood
waters.

2. Flow diversion for bank protection.

3. Prevenlion of progressive damage of loc of
a protected slope due lo scouring.

4, To confine river flow to a preselected
yalervay.

Codes:
A B COD

@ 3 2 4 1

) 3 a 2 |

fc) 3 2 1 4

dd 2 3 4 1

Ghaggar river which appears and disappears in
Rajasthan State of India, can be classilied as a

@
()
(c
(d)

meandefing river
deltaic river
virgin river

none of these
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Q6

Q7

e}

Q.9

Q.10

Consider lhe slalements given below:

1. The quanium of river discharge which is
large enough in magnitude as wefl as in
frequency, so as lo cause conlrolling oflegl
on (he river course and crass-seclion, is
known as dominanl discharge,

2, Theratio of dominant discharge lo (he peak
discharge for a river is ol the order of 9/16.

Which of the above statemanls is/arg correct?

{a) Only1 {b) Only 2

{cy Bolh1and2  (d) Noneollhese

Assertion {A): Turluosity of a meandering river
is greater than one,

Reason {R): The ralic ol ‘arcaul channel lengit’
to ‘direcl axial length’ Js turluosily.

(a} bolh A and R are true and R is (he correct
explanalion of A

both A and R are true but R is nol a correct
explanalion of A

(c) Aislrue but Ris lalse

(d) Ais false but Ris Irug

te)
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In @ meandering river reach, the deepest river
portions will be available al

(3} thecrossings

(b) theinner edges of meander loops

(c) theouteradges ol meanderloops

(d) Noneofthem )

The rivers in flood plains can be classified as
{{) aggravaling

{n) degrading

(i) slable

(iv) deltaic

The correcl answer is

(a) both (i) and (iv}

(b) both (i) and (iii)

{c) (i), {ity and {iii}

{d) (i), (i), (i) and (iv)

Aggrading rivers are
(a) silling rivers (b} riversin regime
{c} scouringtivers () meandering rivers

The repelling groynes which are largely
construcled prajecling Irom river embankments,
as anli-erosion waorks, are

Q.1
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Qa2

; Q13

Q.14

Q.15

{a) pointing upslream,

{b) poinling downsiream,

{c) perpendicularto he bank.
{d)} nona of thesa.

Spacing of groynes is govered by
{i) lype of bank

(ii) widih of the river

(i} type of groyne

The correcl answer is

(a) only (i)

{b) both {}) and (iii)

{c) both (i) and (iii)

{d) (i}, (i) and (iii)

The T-shaped groynes are generally spaced at
(a) BOOmapart

{o} 1200 mapart

{c) 500 mapart

{d) 1800 mapart

The river lraining works required on a canal
headworks are

{) guide banks

(i) marginal bunds

(i) spurs

The coirect answer is

(a) both (i) and {ii)

{b) both (i) and (iii)

{c) both (i) and (i)

{d) (), {ii) and (in}

For a meandering alluvial river in llood plain, the
meander lengihis about

(@ 3 (b) 113

{cy 1 (d) 13103

Permeable spurs are besl suilable for rivers,

which

{a) carry heavy suspended load.

(b} carry large bed load, but light suspended
load.

{c} need permanent proteclion to dykes.

{d} needatiracling the river current, for providing
deeper channel,

Q.16 Themeandering process is governed by

Q.17

Q.18

Q.18

Q.20

Q2

-

tiy' valley slope.

(i} siltgrade and charge.

{iii) discharge.

{iv} bed and side matarials and their
, susceplibility Lo erosion.

The correct answer is

{a) both(iyand {iv)

tby (i), {ityand {iii}

€} (). tiii} and {iv}

{dy (i), (i), (i) and (iv)

Themeander fength of an alluvial river is a lunclion
of Ihe dominant discharge O, and il varies as
@ Q (o) (O
{c) {Q,)°% {d) (Q°%

Which of he following elfscl produced by a cut-

olf in an alluvial rives, is not an advantage to

navigalion?

{a) Shonened route and elimination of sharp
bends.

{(b) Shorenedraveltime, particularly al lovand
moderate tiver slags.

{¢} Increasing waler depth at low river stages.

(d) Lowering of ilood slages and flood pericds.

Denehey's spuris

(a) ahockey-shaped earthen spur

{b) aT-shaped stone spur, as usedin Austraila

{¢) aT-shaped earthen spur, as used in India

{d) alype of a balli spur, especially developed
for Indfan rivers

The upstream angle of inclination of a repelling
groyne wath normal 1o the bank fine is of the order
of

fa) 5°te10°
(€} 30"toSo°

(b) 10°1030°
(&) 70° 10 90°

The canal alignment involving maximum cross-
drainage work is a

{@) ridge canal,

{b} contour canal

{c} slide slope canal.

(d) Allof the above.

Q.22 The following daia periains lo a natural drath

Q.23

0.24

crossing anirrigationcanal:

am Canaidata | Dmilnagedata
Flove {ms) H 500
Bod fovol {m}) 120 - 16
Dopih of fiow (m) 08 it

Which one of the {cliowing types of cross-
drainage should be recommended in this case?
{3) Agqueducl {b) Syphon aqueduct

{c) Syphon {d} Superpassage

HMatch List-l {Relative Posilion of Canal and
Drainage Channel) vith List-1l {Type of Cross
Drainage Work) and selecl the correct answer
using the code given below the fisis:
Ust-l

A. Canallakenabove the drainage channelat
its grade. i
Drainage channe! taken above the canal at
its bed slope.

Canaliaken below the drainage channel,
Orainage channeliaken belowlhe canal. .
Listll

Canalsiphon

Drainage siphon
. AqQueducl

4. Superpassage
Codes:
A B

fa) 2
b 3
© 2
@ 3

The following dala is available at the proposed
site ol a canal crossing
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ilem Dnin Canal
Bedtavel (o)) 2522 2180
FSUHFL{m) 2532 2530
Discrargo(m™fs), 20 4000

The most appropriate and economical cross-
drainage work at the above site will be:



{a) anagueguct {0) Canals or drainage channels are usually

(b} asuperpassage flumed lo allect economy at the sites of
{c) asyphonaqueduct crossings, wherein lhe conlraction
{d) ashphon : 1o

transilions are not 1o be steeper than 22 3

and’ the expansion lransitions not 1o be
steeper than 30°,

Q.25 Poinl out the incorrect statement: .
{a) Aqueductsand super passages are usually
not provided with pucca botiom floors. . .
{b) Aqueductsyphonsand canalsyphonsiare Q.26 In a syphon adequate, the worsl condition of

usually provided with pucca bollom floors. uplift ar the roof occurs when,
{c)" In a fevel crossing, a cross regulator is {a) camal and drainage are llowing lull.
provided on the canal below Ihe crossing. {b) camalflowing full and no drainaga discharge.

{¢) canalis emply and dralnage is flewing full.
{d) None ofthe abova,

River Training and Cross Dralnage Works
i} 2.{c) 3.{a 4{d 5 6 (8 T.{c} B8.{d 9 {a) ’10. {a)
11. {d) 12, {a) 13.(d) 14.(d} 15 (8} 16. (d) 17.{d} 18.(d) 19. {¢) 20.{b)
21.{(b) 22.(d) 23.(a) 24.(d) 25.(c) 26. (c)

: River Tralning and Cross Dralnage Works

17, (d}
For Rivers in fload plains,
Meandering length (#,) = 53.6 0,'2
Meandering width My = 153.5 Q'%
vihere Q, = Dominant Discharge



